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2.0, 2.2 

 

2.1 

 

Scheitelpunktform: 

 

y = a * (x - xs)² + ys 

 

Scheitelpunktkoordinaten eingesetzt: 

 

y = 0,25 * (x - (-2)² + (-5) 

 

y = 0,25 * (x² + 4x + 4) - 5 

 

y = 0,25x² + x + 1 - 5  

 

y = 0,25x² + x - 4 

 

2.2 

 

0,25x² + x - 4 = - 0,5x + 1 | -1 

 

0,25x² + x - 5 = - 0,5x | + 0,5x 

 

0,25x² + 1,5x - 5 = 0 | :0,25 

 

x² + 6x - 20 = 0 



 

p, q - Formel: 
 

p = 6, q = - 20 
 

x1,2 = 
-6

2
 ± ���

2
� ² - (-20) 

 

x1,2 = - 3 ± √29  
 

x1,2 = - 3 ± 5,39 

 

x1 = 2,39  
 

x2 = - 8,39  
 

P(2,39|- 0,5 * 2,39 + 1 = - 0,2) 

 

P(2,39| -0,2) 

 

Q(- 8,39| - 0,5 * (-0,5 * (-8,39) + 1 = 5,2) 

 

Q(- 8,39|5,2) 

  

2.4 

 

C(x - 3| -0,5 * (x - 3) + 1) = (x - 3| - 0,5x + 2,5) 

 

C(x - 3|- 0,5x + 2,5) 

 

2.5 

 

In einem beliebigen Dreieck CBD gilt: 

 

BD = yC - yB = - 0,5x + 2,5 - ( -0,5x + 1) = 1,5 

 

             CD       3 

tan β = ----- = ----- = 2 --> β = 63,43° 

             BD      1,5  

 

α = 180° - β = 180° - 63,43° = 116,57° 

 


